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Rather they did not judge capital cases - PWDI 19T 1T RYW NON

Overview

The X 13 concluded that forty years before the p"»7°2 was destroyed, the 177710
(who were then exiled from the p"%7°2) did not judge capital cases. N1BOIN attempts
to find a source for this conduct.

nooIN asks:
- ZD‘n) opnRnIvY 193993 (x,19 3,7 Pr1mIv) 199 1PV TY 11:1‘.7)311 HN 1YW MPYT NNRn

It is astounding! for the 705 of @127 X nvvyy N2y (and you shall arise and go
up to the place), from which we expound; this P05 teaches that the place

causes; this P10 -
- 1NN RIN 2905 KY 179993 *NI191 17129 X )91 NN 2909 R

Is not written generally for all cases, but rather only for a X9%% jp7, and even by

N92n 3?7 it is only written regarding his rebellion, which means -
- SIan NOWYA HYTAN 19T 153 PRY 29 Y R 919 19375 YAN 1129903 B1YY NY TIINVY

That it is necessary that the X7n 17 rebel against the 1°77710 in their place, but
regarding judging him, the 717710 can judge him even if the 1737 7'"92 (the
1°17710) is not in the N3 now® —

mooIn anticipates (and rejects) a possible solution to his question:
= N9 P20 92y nywa 1P 1Y 13P2T 9210 NI PN)

And it does not seem correct to say that the '0ipni X' P05 teaches that we
require that the 177710 be in its proper place at the time of the transgression, as
it is by a X922 397 that the transgression took place while the 177730 was in the 131 now? —

' The p105 in 11,1 (2WOW) 0127 reads ARR) TWW2 NI 127 Y37 ¥3) T PT7 7T T2 OT2 OF T2 VIYR? 737 Ta0 X9 *D
12 32598 M 022 WK Dipna P8 0°9Y). The aw o concludes (2° 7109) with the punishment for a X1 P71 (see footnote #
3) DRI v PYRY RITT UOKD Dt 0OWa Y IR TRR M DY oW NWR Tobi 1090 9N v o2k 1iT12 Ty UK VR

% Since the w9 of X1 777 states 'DIpnn OX' that means that a X7 17 cannot be punished unless he rebels in the
01pn; the place where the 1°77710 sits in judgement, namely in the n°1x1 noW? (see footnote # 4) of the p"nma.

3 xmn 177 means a rebellious elder; one who does not follow the ruling of the 177710 and rules differently.

4 pma nowb (the office of hewn stones) was a room immediately adjacent to the 777v. That is where the 777710
would meet. NMOOIN question is why was there no Mw»1 °1°7 being judged after the 1717710 left the p"n7°2. The source
cannot be from the 105 of Dpni 2R, for that rule applies only to a X7nn jp1, and only to his rebellion (that it must
take place in the n°131 N5wY) but the 1717710 can judge and punish him even if they are not in the n a7 nowo.

> moon is suggesting that just as by a X 171 he must do the transgression in the *place’, meaning that when the 1pt
X1 transgressed, the 177710 was in its ‘place’, so too any other offense that the 1"77710 has to judge, the
transgression must be done while the 177710 is in its ’place’. Since the 177710 was no longer in its place it can no
longer pass judgement on these cases.
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mooIn rejects this proposed solution:
- SANRIIND AU 1YY MINIY 1Y RIX 25N 129 1NN IY KY XN P2 NNT

For the Xa2» 377 is not liable only for his rebellion, but rather he is not liable,

until he returns to his city and does like his ruling (against the P77710) -
= 01PN 29N XY NNIN)

And regarding this part of his transgression it does not say ‘place’.

mooin offers another rebuttal to the suggested answer:
IND DN 19%3Y NYWA NN NIYHA 17 52 19N OX PPN PAY DIPN DIV 181D NXYT M)

And additionally, we do not find anywhere that they would check if the 7''s2

was in the n 17 nsw> when the transgression took place.” moon here does not
answer his question.®

Summary
There is seemingly no requirement for the 1°77:710 to be in the N1 NOWY in order to

try (capital) cases. There is no requirement that the 177710 be in the n a1 now®
when the transgression is done.

Thinking it over
We could disprove the suggestion that the 117710 must be in the nm7 nows during

the transgression for if indeed it is a requirement, then every X773 for a
transgression would be a pod nXIN7, since we do not know at this time whether the
177710 is in the 137 NOWYH and a 290 NRANA is RN W KR!

% There are two stages after which the X721 77 can be punished; first he has to dispute the 117710 in the n°m1 naw®,
and then go back to his city and act according to his ruling. Regarding this second stage there is no requirement of
0P 98, so we see that the transgression may take place even if the 117710 are not in n°1x1 now®. This proves that
transgressions need not be performed when the 1°377710 is in n°1a7 N5WY in order for the 177710 to rule on them.

7 If there is a requirement that the 117730 be in the 137 naw® during the transgression, when the accused is brought
to 7"3, we should inquire whether the 1777710 was in the N1 now? at the time of the transgression (so we can punish
him) or not (so he is exempt from punishment). However we do not inquire; proving that it is irrelevant.

¥ See T 1"7 2,0 1"y '010 who writes, 932 77 INN D°VUOW IR NAM JER PTI AMPNI TATX PITIOW AT 99 1PWATT M wN
mMwo1 °1°7 H3 1902 077 IPHN0I MWD P17 VBWH TIWW.
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